MG S EHIZET5

WHRmE HEIER

2021407H20H (N)
AN M i Jie @

x* = =2 i v 4 X 8% HRE(t) =iE ZfE
Nr> 35 ~ 200 2,200 6,500 2,200
AFH 50 1,779
O—yvo9)URUD 550 1,758 858
TILAALDZRECD 100 858

= 2,900
N it hiE 8

* = =2 i:: Hy 4 X FEER = (t) =B Z1fBE
<H/( 20 ~ 710 6,000 1,600
NP> ~ 70 380 13,000 4,000
ey AN 28 ~ 28 20 5,000
ZI7RUD 30 600
O—v2o8)URUD 4,720 1,860 1,000
J~xO—-vo3)/)CRUD 40 2,557
HEOFADIRUD 400 669

= 6,300
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* z = | & b 4 X 6% =B FK Z1BE

YUAH 2.0E% 700 | 10,000 5,500 3,500
2.5E% 6,300 5,000 4,000
3.0E% 4,800 3,500 2,500
3.5k% 3,800 3,000 2,500
4.0F%
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